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QUESTION 1

Why would a developer create a consolidated element?
A. To display comments in a cube.

B. To apply alternate names to an element.

C. To store numeric data.

D. To calculate an aggregation.

Correct Answer: D

QUESTION 2

When creating a drill assignment rule, what kind of rule must it be?
A. String

B. Simple

C. Consolidated

D. Leaf

Correct Answer: A

QUESTION 3

Why would an application developer use a DB () function in an internal cube reference?
A. To nest another function into it.

B. To format data in a cube.

C. To clear data in a cube.

D. To display an alias.

Correct Answer: A

QUESTION 4
Which of the following rules should appear first in a rule file?
A

B. [WGross Margin %\\']
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C. [WGross Margin %\\', \V'January\\]
D. [WGross Margin %\\', \'Total Year\\'].

Correct Answer: C

QUESTION 5

An application developer is creating a sales forecasting application that will look at sales trends by day, including

weekends and holidays.

Which of the following time structures should be used?
A. Discrete

B. Automatic

C. Continuous

D. Constant

Correct Answer: C

QUESTION 6

When users cannot access a TM1 application, the application developer should ensure the host process is correct.

Which of the following is the host process?
A. TM1 data server

B. TM1 admin server

C. TM1 web server

D. TM1 local server

Correct Answer: B

QUESTION 7

Which of the following functions can be used in rules to share data across cubes?
A IF

B. DB

C. Continue

D. STET
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Correct Answer: B

QUESTION 8

Why is the same error generated from Tl processes repeated multiple times?
A. The TI process was executed more than one time.

B. The chore was executed more than one time.

C. The TML1 server ran the process for each cell in the cube.

D. The script in the process ran for each row in the source.

Correct Answer: D

QUESTION 9

An application developer needs to know the last time the Sales Forecast cube was updated. The cube file, including the
date and time stamp, can be found in which of the following locations?

A. In the data directory.
B. In the data file.

C. On the web server.
D. On the admin server.

Correct Answer: A

QUESTION 10

Which of the following can be used to load data directly from Microsoft Excel?
A. Processing worksheets

B. ODBC

C. Rule worksheets

D. ODBO

Correct Answer: A

QUESTION 11

Why would an application developer assign a negative weight to an element in a dimension?
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A. To store credit balances without a negative sign.

B. To provide an alternate drill down path to the dimension.
C. To display data in different formats.

D. To store data in multiple hierarchies.

Correct Answer: A

QUESTION 12

Why would an application developer create a lookup cube in TM1?
A. To browse data in the cube.

B. To create a formatted report.

C. To reference data in another cube.

D. To store similar data in the same cube.

Correct Answer: C

QUESTION 13

Which of the following rules should be fed?
A. [[=C:\\V'Price\\*\\'Cost\\';

B. []=N:\\'Price\*\\'Cost\\';

C. [I=S:\\'Price*Cost\\';

D. [[=C:\\Price\V'/\V'Cost\\';

Correct Answer: B

QUESTION 14

Which of the following spreading methods may use a lookup cube as the basis for the spread?
A. Proportional

B. Repeat

C. Percent change

D. Relative proportional

Correct Answer: D
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QUESTION 15

In order to calculate Revenue in the Sales cube, the application developer uses the Unit Price from the Pricing cube to
multiply it by Units sold, also in the Sales cube.

Where should the most efficient rule and feeder reside?
A. Rule and feeder in Sales.

B. Rule and feeder in Pricing.

C. Rule in Sales, feeder in Pricing.

D. Rule in Pricing, feeder in Sales.

Correct Answer: A
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